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SHOW WORK ON ALL PROBLEMS

and CIRCLE ANSWERS!

1. Find all asymptotes, holes, x-intercepts, y-intercept and the domain of the function below. Thef sketch

(x—Z-Y

the function without the aid of a graphing calculator. f (x) = (x";)ﬁ'l) el X 5’/) —{ ;:/
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x-intercept(s): (‘l/ 03 y-intercept: / 0/ "’7'/)

domain: K'O? _'/)U/—// //JU //1 dﬁ)
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2. Find the maximum or minimum value of the function: f(x) = x? — 8x — 9. State whether itis a

max1mum or minimum w1th the value.
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3. Find the maximum or minimum value of the function: f(x) = —2x2 + 6x + 3. State whether itis a

maximum or minimum with the value. - - M A
he 35-F#= 2 o tht A
U2 - %—l‘w 7] ,

K=F0%)= ~2(0)¢d7)73 = VJ«@M«JWW‘

4. Divide using long division. x? + 2x + 3 + x — 1. State your answer as a Quotient and Remainder.
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5. Find the value of f(3) by using the Remainder Theorem for f(x) = x* — 12x2 + 2. Your work must
show that you are using the Remainder Theorem.
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6. Listall possible rational zeros of the function. Simplify and do not list duplicate zeros: f(x) = 2x* —
9x3 + x% — x + 10.
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X=J/Z k=2 x=-3. z=3.

7
7. Find aﬁolynomial with solutions of V2 and — 3i.

- TZXX+TTZ Y - 3.7+ 3.) = O
(x*- 2 )(x*= 9:2) =0
= 2 x5« 92)=o0

[2"+ 72* 12 = & /

8. Find the maximum height and number of seconds to reach the maximum height, in feet, of a toy rocket ¢
seconds after it is launched if the altitude is given by the function: s(¢t) = —16¢2 + 120t + 20.

Veite (Ga, J'(Tz%-» F£(3.75)= 16 (3.75) (20 (5.75) ¢ 2D

2 = 315 f(5.75) = 695

é,w" Luight= 675 zﬁ o 3 75M7

(a) maximum height: é % (b) number of seconds to reach maximum height: (3 7‘5

9. Write the function f(x) = 3x? — 12x + linthe formof y = a(x — h)? + k o
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10. Find all real and imaginary zeros for the function: f(x) = x - 7x -
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11. Solve the inequality using a number line and the test point method. zﬁg = =1
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12. Find all real and imaginary roots for the function. State the multiplicity of a root when it is greater than
one. f(x)—x —2x345x%2—-8x+4
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